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And for other people and utensils with the width of a handbreadth

Overview

There is a dispute between ¥"1 v"7 why they were Xnon the person carrying the y77n.
According to ©"1 he was 'T Xav because of 0’71212 AXMW, and according to ¥"7 he was
T XY because of 13277 HnR Nk, However other people and utensils will not become
Xnv unless the ¥71 has a mov nNB. Our Mo0IN mainly discusses the view of ©"A.

- 195927 INWA5 2IWN SNN Sya 191203 ANV DIV )N NIDT )95
Since by other people and 0°%3 there is no 3°712n2 82 in this case (they are not
touching or carrying the ¥77), an 2121 ®a8 of one 1oV is required to make them
Xnv, as it is by other cases where 78 nx2 is only 9w TMS1.

MooIn asks on v'":
- 3119‘1\9 vy ’umnn DIV /3 HININNPY NNY 9NN ON)

And if you will say; why, according to ©''%, were they X»un the 73°X for 't nRmW

because of 291212 RN -
- ANV YN N NN “w "y YVIVA Y191 N

Since a goad is a ‘flat’ wooden utensil, so it is not susceptible to 7R —

mooIn responds to an anticipated difficulty:5
= Y1990 TINA 1297D PRY 9N TN by NNT

For perforce we are discussing a case where the 3297 is not inside the 792 (it

was removed for some reason) -
= SPRNNY NN Y9 XYW 993 99%9N NPV P90 193 1297 v OxvY

For if there is a 3297 in the vy7n, it would be X»wv» everything that is
underneath it even if the size of the j277 is miniscule; the reason is -

' See “Thinking it over’ # 1.

2 See ynww 1"7n [TIE footnote # 5].

? See “Thinking it over’ # 2.

* vv 93 *0Wws means wooden utensils which are not made to receive anything within them such as a chopping block.

> A y7m is a round piece of wood (a mdv in circumference) which has a metal prod (like a nail) called a 71277
protruding from each end, with which he pokes and steers the cow in the proper direction. How can '01n say that a
nyTINn is 1v %93 "0, when the 1277 is metal, which is 8™ 92pn even if it is "vWD'.

® The v7 services the 1277 (the purpose of the ¥y77 is the j277). Since it services the 1277 (which is metal) the ¥7n
receives the same status as the 1277 that it too is considered metal and not only is it Xm0 22pn, but it can be Xnun
anything underneath it as 77X NX”V even it is not a Mdv MMS as 'O continues to explain (see 0"M). However the
w"w1 maintains that the 11297 will be Pnnnw 77 95 ®nwn, not the V77,
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For the nw7 of ‘the sword is like the corpse’, applies even by %78 nR»w as is

evident in the beginning of n%;I8 NVIwn. In fact -
- (3,197 9173 119 P99 9712 THAN INRMIVA 7Y 1PPYWIT 29N YINAT PIDaN 99

The entire ?1o2 of 291 %1 is expounded in regards to 278 X2 in P92 7973 NJON

by 3715, Therefore we must assume that the j277 was not in the ¥777, so the Y777 is y¥ 92 0w,
which is not 7RMY 22pn, so why was the Xnv 12°K (at all) because he touched the ¥77n (since
TV 92 °0Wwd are not RNV 22apn).

N1B0IN answers:
- HIYTIR3 1397 PINVY BIPN 2P N5 BUNT 0N 13939 N

And the n''% answered that the place where they insert the 3297 into the ¥79» is

considered a receptacle, so the ¥777 is not considered ¥ >3 YWD anymore, therefore it can
be R P2pn (but not like a Monn °%3, for in this case the 1277 was not inserted) —

mdoIN responds to an anticipated difficulty -
= 199501 D1Y¥9) 1PN DIYO NIN OV NN P¥2ID PRY MININD YYD 1P 5% M1 D)

And this is not considered a receptacle which is commonly filled"’ up, since we
do not affix the 7277 to the ¥77» permanently, rather sometimes the 1277 is

inserted and sometimes the 277 is removed from the y71, therefore the place of

insertion is considered a 9127 n°2 which excludes the ¥777 from being vy 25 “v1w».
=TI DYNNN Y WO 1990 N1 9P 73 Wt ovva navna nom 19

And it is so evident in 2°9> n>%n, that it is considered a »1ap nva, for the wn
states, ‘the ¥y797 has a back and an inside’; proving that it is not yv >73 *vws.

mooIN anticipates a difficulty:
- 9919 1394 ¥9AY 19599 PXIIY ¥9AY WID 0 mwm D991 7D P93 PNT XD

7 The 70 writes (T0,2° [NP1n1] 12713) that D7 NY2W Xuw? 122 X 7Y DY X NP3 IR 297 Yon2 770 °30 2y ¥30 WK 7).

The X3 (in 1"¥1 2,7° 2nod) expounds this P09 to mean that the sword 277 (or any metal) takes on the same
stringency as the nn itself. So metal which became &nv from a nn is considered an ARM™IVT NAX °IR just like the nn.
This rule applies even to 218 nxmw. When a N is 2°7%n over an object it becomes Xnv even if there is no ndv 1N of
nn. The same applies to metal. Therefore in our case of the ¥771 with a metal 1217 if it is N7 By 278N (even though it
is not a 119v 11Nd) it will be Xnvn anything underneath it; so why was v"9 perturbed.

¥ ow 2"yan ho 2" RS,

? This supports what Mmoo just stated that 715 X371 ™17 277 applies (even) to 27X NXMY.

' Any utensil, which initially is made with a »12p n»2, however that 912p m°a is filled with something (which is
inserted into the 9127 n*1), on a permanent basis, it is still considered 7y 75 *vWw».

3y o,

2 A spindle (a rounded rod for spinning thread) has an iron hook at its end. In this case the hook became recessed
into the wooden rod (the rod swallowed the hook). The same with the v7/7%n which swallowed the 7277; it
became completely enclosed in the ¥771 and it cannot be seen.
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And this which we learnt in the 771w in the ninth p=2 of 2°%> nriwn, a spindle

which swallowed the metal hook or a T»%»/y7 which swallowed the 3297; the
rule is -
- 9910 1PN YW 993 ¥yna ¥as Py1ab 13910 WIS NNPVI HARY 19393 ©INNV 1N

If they (the w5 and the 71%1) were 29770 and they entered into the n»i ®nN,
they become X»%; meaning only the 3297 but not the y7n/1%n; if after they

became Xnav, a loaf of 7m19n touched them (the v777) it remains =3W. This
concludes the 71wn -
- 11903 ¥V DPIN YY 999 NV a5 XY 2Y2 Y0IVS 2IWN 11aYNRT YIUn

It seems that the 7»%» is considered yy %> “uws; therefore the 710 »w =22

which touched the T%» is 270 -
- 1AN Y91 NRNDN Y1999 T19) 12970 I INDIV Y259 KY 15NnNY

For the T»%» did not become X»v from the 3297 (since the 7291 is considered
TY 20 "0wo), and presumably a T»%% and a ¥77» are one and the same.

modIN question is that previously '0n explained that the v¥777 is not considered vy °%5 "0Ww»
(because it has a 712°p n°a for the j277). However the mwn in 2°93 states that if after the ¥7n
entered the nni %R, a 7170 2w 193 touched it, the 7170 is Miw. The explanation must be that the
Y71 was not Xm0 92pn, because it is a YY °%5 *0Wwd, contrary to what nooIn stated previously.

mooIn replies:
= 12991 NONIND TWON INY NI NN IPIND NIINT PNYY 139349 919IN)

So the >''1 says that it is possible to establish that 71w» in 2°%5 in such a manner;

that it is impossible to remove the 3397 from the ¥7; it was ‘swallowed’ to such a great

degree, that it cannot be removed -
19939 1% 90 2UN RY 799 19125 1793 93w 19 ON NN

Unless it place of insertion is broken, so therefore it is not longer considered a
%12 N3, and the ¥711 becomes (in that mwn) vy 23 0w,

Summary
A utensil is considered having a ?12p n°a if the content is sometimes removed,

however if the utensil needs to be broken in order to remove it, then it becomes
T¥ 223 0Wwd. The rule of 951> X177 °377 270 applies even to 7K NRMAW.

" This reason for this qualification will be understood shortly. See footnote # 12.

14 The 7m0 touched the y7» only, for the 1277 was 171 inside. The 72170 is 7170 because the ¥711 must be M.

% See “Thinking it over’ # 3.

'® moown previously explained that it is a 912p n°2 because the ¥71% can be placed in or taken out (frequently), but
now that it cannot be taken out it is no longer a 913p n°a.
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Thinking it over
1. What is the first line of '01n teaching us.'” It seems obvious?!

2. Why is moon asking on "1 only,'® we could ask the same question on ¥", why
were they &nvn the one who carried the y7n?!"

3. Mmoo writes that the Tn%» did not become ¥nv from the 1277.*° Why did not
mooIN write that the 7392 did not become Xnv from the man ax? !>

17 See footnote # 1.
18 See footnote # 3.
19 See x"wmn.

20 See footnote # 15.
21 See ooy XN,
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